
𝑆𝑙𝑜𝑝𝑒 =
௥௜௦௘

௥௨௡
⎯⎯⎯ =

௬మି௬భ

௫మି௫భ
⎯⎯⎯⎯⎯ Vertical distance

Horizontal distance

Find the Slope

𝑆𝑙𝑜𝑝𝑒 =  
𝑟𝑖𝑠𝑒
𝑟𝑢𝑛⎯⎯⎯⎯=
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            =
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            =
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−3 + 1
⎯⎯⎯⎯⎯⎯

            =
4

−2
⎯⎯⎯

𝑆𝑙𝑜𝑝𝑒 = −2

           =
(4) − (1)

(3) − (2)
⎯⎯⎯⎯⎯⎯⎯⎯

           =
3

1
⎯⎯

Slope = 3

Slope Formula
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𝑆𝑙𝑜𝑝𝑒 =
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௥௨௡
⎯⎯⎯ =

௬మି௬భ

௫మି௫భ
⎯⎯⎯⎯⎯

Horizontal distance

Vertical distance

Slope is  how much you go up by 
over how much you go over by.

1) Start at the point on the Left
2) Count straight up to the next point
3) count straight over to the next point

Slope=
௎௣ ௢௥ ஽௢௪௡

௅௘௙௧ ௢௥ ோ௜௚௛௧
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Substitute with 
brackets
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